Proposed NU Business Name: HAMIM GARMENTS



Project identification and prepared by: MD. Zahangir Ferdous, Munshigonj Unit, Munshigonj

Project verified by: MD. Zillur Rahman



Brief Bio of The Proposed Nobin Udyokta					
Name	:	JAHAN SHARIF			
Age	:	05-03-1987 (29 Years)			
Education, till to date	:	Class Nine			
Marital status	:	Married			
Children	:	1 Son			
No. of siblings:	:	1 Borther & 2 Sisters			
Address	:	Vill: Telirbil, P.O: Panchasar, P.S: Munshigonj Sadar, Dist: Munshigonj			
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info	: : :	Mother Father JAHANARA BEGUM TAIYOB ALI Branch: Panchasar Munshigonj, Centre #(Female), Member ID:, Group No: Member since: 08-05-1995 to 03-02-2004 (9Years) First loan: BDT 5,000			
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan	:	Existing Loan: Nil, Outstanding loan: Nil N/A No No			
(viii) Any other loan like GB, BRAC ASA etc	:	No			

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	06 years experience in running business.
Training Info	:	He has 10 Years training.
Other Own/Family Sources of Income	:	Agriculture
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01946-930567
Mother's Contact No.	:	01988-670596
NU Project Source/Reference	•	Grameen Shakti Samajik Byabosha Ltd. Munshigonj Unit, Munshigonj

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

JAHANARA BEGUM joined Grameen Bank since 9 years ago. At first she took 5,000 taka loan from Grameen Bank. She gradually took loan from GB. Utilize loan in business.

Proposed Nobin Udyokta Business Info			
Business Name	:	HAMIM GARMENTS	
Location	:	Telirbil, Panchasar, Munshigonj Sadar, Munshigonj	
Total Investment in BDT	:	BDT 6,00,000/-	
Financing	:	Self BDT 4,50,000/- (from existing business) 75%	
		Required Investment BDT 1,50,000/- (as equity) 25%	
Present salary/drawings from business (estimates)	:	BDT 5,000/-	
Proposed Salary	:	BDT 5,000/-	
Size of shop	:	30 ft x 20 ft= 600 square ft	
Security of the shop	:	-	
Implementation	•	 Manufacturer of kids cloth etc. Average 38% gain on sale. The business is operating by entrepreneur. Existing ten employee. After getting equity fund two employee will be appointed. The shop is owned. Collects goods from Islmapur. Agreed grace period is 3 months. 	

Existing Business (BDT)					
Particular	Daily	Monthly	Yearly		
Revenue (sales)					
Cloths	6,000	180,000	2,160,000		
Total Sales (A)	6,000	180,000	2,160,000		
Less. Variable Expense					
Cloths	3,720	111,600	1,339,200		
Total variable Expense (B)	3,720	111,600	1,339,200		
Contribution Margin (CM) [C=(A-B)	2,280	68,400	820,800		
Less. Fixed Expense					
Electricity Bill		2,500	30,000		
Mobile Bill		300	3,600		
Salary (self)		5,000	60,000		
Transportation		8,000	96,000		
Salary (staff)		40,000	480,000		
Generator Bill		200	2,400		
Total fixed Cost (D)		56,000	93,600		
Net Profit (E) [C-D)		12,400	727,200		

Investment Breakdown					
Particulars	Existing	Proposed	Proposed Total		
Digital Leon (1500 x 50)	75,000	0	75,000		
Carrolin (1189 x 37)	44,000	0	44,000		
China Net (1000 x 30)	30,000	30,000	60,000		
Sarting (1200 x 30)	36,000	36,000	72,000		
Voil Cloth (1500 x 300)	45,000	45,000	90,000		
Astor (1000 x 30)	30,000	15,000	45,000		
Cotton	20,000	9,000	29,000		
Others	20,000	0	20,000		
Lace	0	15,000	15,000		
Sewing Machine (15 x 10000)	150,000	0	150,000		
Total	450,000	150,000	600,000		

Source of Finance



Financial Projection (BDT)					
Particular	Daily	Monthly	1st Year	2nd Year	
Revenue (sales)					
Cloths	8,100	243,000	2,916,000	3,061,800	
Total Sales (A)	8,100	243,000	2,916,000	3,061,800	
Less. Variable Expense					
Cloths	5,022	150,660	1,807,920	1,898,316	
Total variable Expense (B)	5,022	150,660	1,807,920	1,898,316	
Contribution Margin (CM) [C=(A-B)	3,078	92,340	1,108,080	1,163,484	
Less. Fixed Expense					
Electricity Bill		2,500	30,000	32,000	
Mobile Bill		400	4,800	5,500	
Salary (self)		5,000	60,000	60,000	
Transportation		12,000	144,000	146,000	
Salary (staff)		48,000	576,000	576,000	
Generator Bill		200	2,400	3,000	
Non Cash Item					
Depreciation		2,500	30,000	30,000	
Total Fixed Cost		70,600	847,200	852,500	
Net Profit (E) [C-D)		21,740	260,880	310,984	
Investment Payback			90,000	90,000	

Cash flow projection on business plan (rec. & Pay)

SI#	Particulars Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	150,000	
1.2	Net Profit	260,880	310,984
1.3	Depreciation (Non cash item)	30,000	30,000
1.4	Opening Balance of Cash Surplus		200,880
	Total Cash Inflow	440,880	541,864
2	Cash Outflow		
2.1	Purchase of Product	150,000	
2.2	Payment of GB Loan		
	Investment Pay Back (Including Ownership		
2.3	Tr. Fee)	90,000	90,000
	Total Cash Outflow	240,000	90,000
3	Net Cash Surplus	200,880	451,864

SWOT ANALYSIS

Strength

Employment: Self: 01 Family:0 Others:12

Experience & Skill: 10 Years

Quality goods & services;

Skill and experience;

WEAKNESS

Lack of Capital/Investment

OPPORTUNITIES

Huge demand in the community Location of shop; Regular customers;

THREATS

Theft

Fire

Political unrest

Pictures







































world open we Inverse Torlan, the setters with one two with the sich about which To colora for I worker - cour water to 125, מני המוצעם בינה אנובער שניילוטות - פובנם TODATEDE EXCEPTED THEOR THEIR OFFICE. ו שנות שונים שונים מוצים לחם מול לחם מול gus were were wisher and one of a

३३/७० मालस घटाम प्रात्यात ०० मर साताग्रट प्रथमा, गाविका वृ त्यमात वि

912 DESK HIL



Ornahir om ar 1

পঞ্চসার ইউনিয়ন পরিষদ কা

ভাকষর ঃ পঞ্নার-১৫০০, উপজেলা ঃ মুগীগঞ্জ সদর, মু

ব্যবসায়ের লাইসেন্স

MECHA IL 030 /

2030-2036 81

আমি পঞ্চনার ইউনিয়ন পরিষদ চেয়ারম্যান, এতহাবা অর ইউনিয়নের আগুডারীন মেনার্গ,

দায়ীত চিল্ম / কাৰখানা/ ফারে দিল্পাম বিশ্বা

व्ययक्तिका नगरकान्य वनार व्याप्याच

reserve, forme CHARLES HALL

cardina ole ce

বাৰ্যা কৰাৰ জনা এই লাইদেশ মন্তুৰ কৰিকেছি ।

STAT TO THE _____ 7000 } SHE SE TENT - 780 a seem prince are the art weeks were

छाउरमार रक्ता के के के कार महिलान BYPE INTO STRYET PLANT I PORT LANGER BIFT HATTS WHENT I TOTAL TO BUT GULLES ATT

3 Altern

21 दिस्त

हराटकान कामा निम् MAN TUNEUN ENENE

02-9 20 EST. Stati coloratoros AGENTS ENGINE

FAMILY PICTURE

